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2ab+2bc+2ac

\da+4b+4c




1 BapuaHT
1) [aHo:
NPSAMOYroJibHbIN
napannenenunen
a=8cM
B=5CM
c=3CM
Hantun: Soon
2) OaHo:
Ky6
a=8cM
Hantun: Soon

2 BapuaHT

1) AaHo: .
NMPSAMOYroJibHbIN
napannenenunen

a=3CM
B=11cm
c=5cm
Havutun: Sron

2) NaHo:
Kyb6
a=6cm
Hauntu: Son










Teopema 3unepa

CJ10 rpaHeun + YUCJ10 BepLHH - Yucsio pebep = 2







llhlli







O6BbEeM rnpssMoyrosibHoOro
napasnanenenurnega

V=aBcC
a - AJINHaA

B - LUNPpUHA
C - BbiCOTa




O6BbemM kyba
V=a°“




[NaHo:a=8am
B=125m™m
c=13m

Havtn: V




[daHo:

a=250am

B=4CM

c=2M
Havtm: V
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